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QUESTION 1

Select two commands used to check the syntax of the ALTER TABLE statement in psql.
A.\h ALTER TABLE

B.\h ALTER

C.\ALTER TABLE

D.\ALTER

E. HELP ALTER TABLE;

Correct Answer: AB

QUESTION 2

Select one correct command to shutdown the postmaster AFTER all the clients have disconnected.
A. pg_ctl stop

B. pg_ctl -m fast stop

C. pg_ctl -m immediate stop

D. pg_ctl -m wait stop

E. pg_ctl -s stop

Correct Answer: A

QUESTION 3

Select two incorrect statements regarding large objects.

A. A large object is generated by \WCREATE LARGE OBJECT\\'.
B. A large object is added by \V'INSERT\\'.

C. One large object is able to handle up to 2GB of data.

D. Binary data cannot be used unless declared as a large object.
E. An OID is used to identify a large object.

Correct Answer: CE

QUESTION 4
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SQL statements were executed in the following order: CREATE TABLE fmaster (id INTEGER PRIMARY
KEY, name TEXT);

CREATE TABLE ftrans

(id INTEGER REFERENCES fmaster (id), stat INTEGER, date DATE); INSERT INTO fmaster VALUES (1,
\VitemA\);

INSERT INTO ftrans VALUES (1, 1, CURRENT_DATE);

Select the two SQL statements that will generate an error when executed next.

A. DROP TABLE ftrans;

B. INSERT INTO fmaster VALUES (1, \\'itemB\\");

C. DELETE FROM fmaster;

D. UPDATE fmaster SET name = NULL,;

E. INSERT INTO ftrans VALUES (1, 2, NULL);

Correct Answer: BC

QUESTION 5

Select two incorrect statements concerning the system catalog.

A. It stores the object definition information for tables and columns.

B. There may be changes to specification by major version upgrades.

C. Itis accessible as a table; however, it is output in binary format so it can not be read as is.
D. It stores the internal information of the database management system.

E. It is defined based on the standard SQL specification.

Correct Answer: CE
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